Master Packing List

12-17-2021

R20210871 - SHER - James and James, ISD-WP-20-10-40-CP

Part Number QTY |Packed |Crate [tem Num Description
10RIB-2.5-12-120-01 4 v L PN 10 ga 12" Rib
10RIB-2.5-12-144-01 3 v W\ [re 10 ga 12" Rib
10RIB-2.5-12-80-01 10 v 1LY 10 ga 12" Rib
10RIB-2.5-12-90-01 10 G aall | LinZ2 A2 10 ga 12" Rib
10RIB-2.5-12-96-01 3 v 3 |A3 10 ga 12" Rib
10RIBAA-2.5-12 10 v 2 |A7 10 ga Rib Anchor Angle
10RIBA-2-2.5-144-01 3 v 3 A 10 ga Rib Angle
10RIBA-2-2.5-60-01 6 4 | a8 10 ga Rib Angle
10RIBA-2-2.5-80-C1 5 v i |a9 10 ga Rib Angle
10RIBA-2-2.5-96-01 3 v { |Af0 10 ga Rib Angle
[-10RIBJ-2.5-12-90d-02 10 v Z  |Aa12 10 ga Rib Joint 80 degree corner IP
I-10RIBJ-2.5-12-180d-01 15 v 2 |A13 10 ga Rib Joint straight IP
-BLL-SH 2 ‘/ TE® D4 12 ga Brixon Latch Large Shim [P
1-BLS-SH 3 v | T8 |ci 12 ga Brixon Latch Small Shim [P
MDFE-38-03 3 v 6 c2 12 ga Man Dcor Frame End Strike Plate
[-MDiH 7 v T8 [Dsc3 12 GA Man Door Inside Handle- IP
I-MDOH 7 v | T8 |p7c4 12 GA Man Door Cutside Handle [P
12MDPP-2-31.3-01 3 v S cs 12 ga Man Door Pinch Plate IP
12PL-20-50-45d-01 6 v v A14 12 ga Plate
I-PDA-2.125-2.125-3.75-02 8 BAK locd D3 12 ga Product Door Angle IP
PDFA-112 2 v I D14 12 ga Product Door Frame Angle
PDFA-115.9 4 v | pg 12 ga Product Door Frame Angle
12PD-PP-2-53.75 4 v i D17 12 ga Product Door- Pinch Plate
12RIBA-2-2.5-120-01 8 V4 | E2 12 ga Rib Angle
12RIBA-2-2.5-30-45d-01 12 WinZ | inT|cs 12 ga Rib Angle
12RIBA-2-2.5-48-01 12 v i B1 12 ga Rib Angle
12RIBA-2-2.5-84-01 6 v I B 12 ga Rib Angle
12RIBA-2-2.5-25-45d 12 v 2. cr 12 ga Rib Angle- 45 degree cut 2 ends
R20210871 - 14A-1.5-1.5-118.375-01 1 v 7T |E3 14 GA Angle
R20210871 - 14A-1.5-2.5-120.875-01 2 v 7 |E4 14 GA Angle
14PD-0-110.875 2 V4 T (D9 14 ga Product Door- Offset
14PD-OKP-110.875 2 v 7 [p10 14 ga Product Deor- Offset Knife Plate
R20210871 - 18A-2-2-103.5-01 1 v y A [ci 18 ga Angle
R20210871 - 18A-2-2-103.5-02 1 v 2 |G2 18 ga Angle
R20210871 - 18A-2-2-115.875-01 1 v/ 2 |E5 18 ga Angle
B4-24-48-1000-01 4 |2n2 |2:a7|B2 18 ga Baffle Pan
B4-30-48-1000-01 4 v 2. (B3 18 ga Baffle Pan
BP-18-120 8 v T |c8 18 ga Booth Panel
BP-36-120 20 v | F1 18 ga Bocth Panel
B
1 L




(Eart Number QTY |Packed |Crate  {ltem Num Description

BP-4-32-01 8 1203 Tin1 [E6 18 ga Booth Panel

BP-6-120-01 8 \w2 i 7inTlE7 18 ga Booth Panel
BP4-1-24-59.813-453-01 2 v 2 D21 18 ga Booth Panel - 45 degree - Right
BP4-R-24-59.813-45d-01 2 v 2 |p20 18 ga Booth Panel - 45 degree - Right
BP1-30-120-11 7 v -1 (ce 18 ga Booth Panel 1-sided pan
SL1-116-32-01 1 v 2 |r7 18 ga Booth Panel 2-sided pan
8L1-120-32-12 1 v’ | B8 18 ga Booth Panel 2-sided pan
SL1-120-32-13 1 v’ 7 B9 18 ga Booth Panel 2-sided pan
SL1-120-32-14 1 Ve 7 |(B10 18 ga Booth Panel 2-sided pan
SL1-120-32-15 1 v 7 Bt 18 ga Booth Panel 2-sided pan
S11-62-32-03 1 v 2 B4 18 ga Booth Panel 2-sided pan
SL1-62-32-04 1 v 2 |Bs 18 ga Booth Panel 2-sided pan
SL1-62-32-05 1 v 7 |6 18 ga Booth Panel 2-sided pan
BPC3-48-6-01 1 v 3 . |B12 18 ga Booth Panel 3-sided corner pan- Special
BPC3-84-6-01 3 v T icto 18 ga Booth Panel 3-sided corner pan- Special
BP3-48-30-02 4 v T B3 18 ga Booth Panel! 3-sided pan
BP3-48-32-01 1 v 7 B14 18 ga Booth Panel 3-sided pan
BP3-48-36-01 7 2in2 |5 in7|B15 18 ga Booth Panel 3-sided pan
BPC3-26-48-01 3 v 1 B16 18 ga Booth Panel 3-sided pan
R20210871 - BP3-L-29-8-01 1 v 2 G3 18 ga Booth Panel 3-sided pan
R20210871 - BP3-R-29-8-01 1 v’ 3 G4 18 ga Booth Panel 3-sided pan
R20210871 - IB50-12-120.875-01 1 v 2 |59 18 ga Beoth Panel 3-sided pan
R20210871 - IB50-7-120.875-01 1 v’ 2 |E8 18 ga Beoth Panel 3-sided pan
BP3-48-12 5 v T [B17 18 ga Booth Panel 3-sided pan- Special
BP4-12-48 3 v T |c12 18 ga Boath Panel 4-sided pan
BP4-24-58.813 4 v 2. D¢ 18 ga Booth Panel 4-sided pan
BP4-20.813-111.875 2z v 3 D24 18 ga Booth Panel 4-sided pan
BP4-36-48 10 v 2 |[B18 18 ga Booth Panel 4-sided pan
BP4-36-58.813 8 v 2 |D18 18 ga Booth Panel 4-sided pan
BP4-6-84 3 v' 7 lcnm 18 ga Booth Panel 4-sided pan
BP4-1-29.813-41.875-01 2 v’ 3 |p23 18 ga Booth Panel 4-sided pan
BP4-R-29.813-41.875-01 2 v/ 3 D22 18 ga Booth Panel 4-sided pan
BPC-14-120 7 v 7 |2 18 ga Booth Panel Corner

R20210871 - BPC-14-120 1 v’ 2 |F3 18 ga Booth Panel Corner
I-DID-15-15-42d 2 v’ "" G5 18 ga Duct - Inspection Panel (Display)
D18-R-48-42d 10 v’ 4 (s 18 ga Dugct- 42" Diameter IP
I-DI-24-42d 2 v lvl’ G7 18 ga Duct- 42" Diameter w/ 12"x12" Inspection hole IP
R20210871 - D18-REC-10327-40-01 1 v lo oo 18 ga REctanglar Duct

R20210871 - D18-REC-105327-41-01 1 v’ e G0 18 ga REctangiar Duct

R20210871 - D18-REC-10337-22-01 1 v o Gn 18 ga REctanglar Duct

R20210871 - D18-REC-10337-36-01 2 lwnlellinl [G12 18 ga REctanglar Duct

R20210871 - D18-REC-8018-48-01 2 v’ to G8 18 ga REctanglar Duct
18RIBA-P-2-2.5-28-02 3 v 2 (B19 18 ga Rib Angle - (Plenum)
1BRIBA-P-2-2.5-28-03 3 v’ 2 [B20 18 ga Rib Angle - (Plenum)

iner




Part Number QTY {Packed |Crate ltem Num Cescription

18RIBA-P-2-2.5-18-02 3 v 2. B2 18 ga Rib Angle - {Plenum) - Left

18RIBA-P-2-2.5-18-03 3 v 3 |s2 18 ga Rib Angle - (Plenum) - Left
18RIBCI-L-2.5-12-ES-03 3 v 2 |B23 18 ga RIB Closure interior- Left

18RIBCI-R-2.5-12-E8-03 3 v 3 B24 18 ga RIB Closure interior- Right

R20210871 - D18-5QR-1860-42-30-01 2 v \ G13 18 ga Square Te Round Duct

R20210871 - D18-T-10337-10327-40-C1 1 v v G14 18 ga Transiticn Duct

R20210871 - 1B40-18-90-01 6 4 1 E10 18ga - INTAKE BAFFLE - .155P

TBA-42 2 Va9 | \in |DG15 42" Diameter Tube Axial Fan

A-EFP-48-120-02 4 v 3 B27 Assy - Exhaust Filter Panel

A-EFP-48-60-02 2 v 2 B2 Assy - Exhaust Filter Panel

A-EFP-48-80-04 1 v 2 |B2% Assy - Exhaust Filter Panel

A-EFP-R-48-114-02 1 v 3 B28 Assy - Exhaust Filter Panel

A-HLP-26-120-1HF-C1 4 1dn! (B2 c13 Assy - Hip Light Panel - 4-sided pan
A-HLP-26-120-2HF-C1 4 Bl | linBicl4 Assy - Hip Light Panel - 4-sided pan

A-1.P-36-120-1HF-01 5 v i C15 Assy - Light Panel - Class |, Div |l

A-LP3-36-72-1HF-01 3 v 7 (C18 Assy - Light Panel, 3-sided pan - Class |, Div il
A-MDL-36-84-W18-24-TB-02 1 v 1 c17 Assy - Man Door Left Swing W/ Window
A-MDR-36-84-W18-24-TB-02 2 v | c18 Assy - Man Door Right Swing w/ Window
A-PD-P-55-114,375-01 4 v 7 Ip13 Assy - Product Door Panel

A-PDTF-2-4-114-150J-01 s |Hendl \oad |p2 Assy - Product Door Tube Frame

A-DC-42 2 v & |G16 Assy - Standard Damper Cap - 42"
A-IFP-48-120-40-100-01 12 3 %Y 5 q Y (g E11 Assy- intake Filter Panel

A-[FP-L-N-48-120-40-10C-01 2 LY, 3 Linlp|E12 Assy- Intake Filter Panel

A-IFP-R-N-48-120-40-100-01 2 Lin3 | Linbo|E1s Assy- Intake Filter Panel

BNR- 32 3 v | T | |c1o Black Neoprene Rubber Sweep 3"x1/8" x32"/ item

BNR- 54.25 4 / Te |Ds Black Neoprene Rubber Sweep 3"x1/8" x54.25"/ item

3-p 2 v | T [ps Brixon Latch - Large

2P 3 v | T9 |cao Brixon Lateh - Small

LDPI #390440-LED 20 Drop sNP C21 Class 1 Div 2 - LED Hazardous Light Fixture

DM 306 |Hend | load |c18 Duct Mate

HWDU-JC-00-00-00-1 68 v | TS |c20 Duct Mate "J" Corner

D-CRJ-42d v 9 G1i7 Duct- Conical Roof Jack

D-SC-42d lin? | 1inB |c21 Duct- Storm Collar

-FCF-42 v % G22 Fan Companion Flange - 42"

VSU-225-H50 1 | Dyop | oWP 623 GH-VSU 230, 64,000 cfm, 50HP

LF-T8-LED 80 | | B o Light Fixture- T8 LED Tube

1750 ST-110,75-01 2 v T ﬁ D12 Rubber "D" Gasketing- "Large" for between product docrs
109 8T- 113.875 4 v T 5 D11 Rubber "D" Gasketing- "Small" for door perimeters 136"/ item
109 ST- 111.8-01 2 v' | T® |Di5 Rubber "D" Gasketing- "Small" for door perimeters 146"/ item
100 ST- 32 3 v i TP |c23 Rubber "D" Gasketing- "Small” for door perimeters 327/ item
108 8T- 83 & v T 6 c24 Rubber "D" Gasketing- "Small” for door perimeters 83"/ item
TS-2-4-112-02 2 v | 3 b1 Tube Steel 2x4x1/8

01AFR2020-20 160 \/ 5 H105 #01AFR2020-20 - Intake AFR1 Panel - white
14AGP2020-50 62 v’ 6 H108 #14AGP2020-50 - Exhaust Filter - Fiberglass PA Pads




Part Number QTY |Packed |Crate [tern Num Description

16GR202020 62 v 'B H107 #16GR202020 - 20x20" Snap-in Filter Grids

HWSC-TKSD-12-313-100-| 1358 vV | T% [H1 (1ZN10QUHWZ) #12 Teks, 5/16x1

HWSC-MSTH-04-20-075- 309 v, | T9 H17,H14 1/4-20 X 3/4" Phillips Pan Head Machine Screw

HWSC-8DS-04-20-100-I 289 ./ T ] |H7 1/4-20x1

HWBL-CBZK-375-16-100-N 60 / T8 |H37 Carrizge Bolt 3/8-16x1" Zinc Plated

Booth PLC , 1 H108 Compact PL.C based control center - 24VDC power supply, 24
/O PLC controller, PID temperature conirol relay with

/ 8 fuzzy logic and auto tuning & 5.78 QVGA coler touch screen

HML (1) 25 hp. Supply blower VFD and (2) 5 hp. exhaust fan
VFD(s) with auto booth pressure conirol.

RMCA-CK-AG-AC-101-| 4 v | T8 |He DAP, Caulk, Acrylic Latex, All-Purpose, Gray, 10.1 oz

RMCA-CK-AW-AC-101-I 47 v | T & |He1 DAP, Caulk, Acrylic Latex, All-Purpose, White, 10.1 oz

DM-CL 200 v | T © |He7 Duct Mate Cleat

DM-BT 14 v, | T8 |Hes Duct Mate W 308 Butyl Tape

Mark [l 2 v | T8 |[H10¢ Dwyer Mark 1l Manometer- 0-3"

HWWA-FWGS5Z-375-00-00-I 20 v | T B [H26 Flat Washer for 3/8" bolt

HWBL-HH5Z-375-16-075-| 20 | T B iH4 Hex Bolt - 3/8-16-3/4"

HWSC-HCS5Z-625-11-150-1 420 v | TS Ho Hex Bolt - 5/8-11x1 1/2"

HWBL-HE52-025-20-0754 4435 v | T8 [HzH3 Hex Bolt- 1/4-20x3/4"

HWNU-FLNGZ-025-20-00-] 4744 v | T 8 H3,H2 Hex Flange Lock Nut; 1/4-20

HWNU-HXG2Z-625-11-00- 420 v | T8 |ri Hex Nut - 5/8-11

HWNU-HXG2Z-375-18-00-1 80 v TH [H26 Hex Nut; 3/8-16

821069 v | T8 [H200 Standard 3/4-solenoid valve

AYAF-HWA2KIT-42-0-0-} 2 v, | TS |H48 Tube Axial Fan Hardware Kit- 42"




